(8x+3)2—x4:8x2+16

(8x+3)2—x4—8x2—16=0

[IponsBeneM 3aMEHY ITepEeMEHHBIX.
p Ryl
[Tycte A=8%x+3;B=X

B pesynbrare .

A2-82-88-16:0
n%+(-82-8B-16)=0
A2-(82+8B+16)=0
A2-(B+4)2=0
(A-B-4)(A+(B+4))=0
(A-B-4)(A+B+4)=0

Crnenyroliee ypaBHEHUE PAaBHOCWIBHO IPEABIAYLIEMY.

((8x+3)-x2-4)((8x+3)+x2+4):0

(8x+3-x2-4>(8x+3+x2+4>=0

pemcHuc p836I/IBa€TC5{ Ha OTACJIBbHBIC CIIydau.

Crmyyaii 1 .
8x+3—x2—4=0
8x+3-4—x2=0
8x—1—x2=0
-x2+8x-1=0

x2-8x+1:O



Haxonnm auckpuMuHaHT.

D=b2—4ac=(—8)2—4- 1-1=60

_b=JD
X127 2a
8215 —  8+x[15_
X\ = 5] =4-[15 o= o =4+[15
Crnyyaii 2 .
2., ,_
8x+3+X +4=0

8x+3+4+x2:O
8x+7+x2:0

2
X +8x+7=0
Haxonum quckpumMuHaHT.

D:b2-4ac:82-4- 1-7=36

_-bxD

X127 2a

8-6 8+6
X121 ¥ 1

oTBeT: X=-7;x=-1;x=4-\[15;x=4+1/15



